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Question Id : 92090611240 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

Ui faw gHRT AP ud 1 1929 # S BT UH Hedqy fRATH deR # adl 7d F
fapR g1 1, o waifa dieu g faas ofiR e o Adisi &1 e URon 4 S99 =
YRd & YUiEy 9 3fTirg a1 wiehA & &t ufdsn &t it fos 5a 9 32 &1 gol wrsdi-an =gt
i Sirell, BAR Srvad Qifd SiR <4 &1 919 T8l &1 391 ufas &1 87 YRdard! &X ay 26
ST & APES BEUH Ged o, 6 89 S 1 quf W= wal §1e @) 33 & L,
¥l 26 SFGR1, 1950 &I, 3Mee] e & a1g YRd &1 =41 "idyH IR <1 § ar] faar man
23 A A HRd & U S Uk Ot 5 T SfR 98 SieuE & o uR 3W &
YR 1 HH L ATl 31, 26 TGN I &= TT0rdH fGaq 91 & YR Sl & | 26 Sad
BHRI AP Ud g, Sl HRd 1 guf warefi=rar &1 udies ¢ | sue1 Ufdere sk wia wew 2|

Sub questions

Question Number : 1 Question Id : 92090611241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy & frafar &

(1) HeTE e 2) THUAE TG

3) R sfEEe (4) cegEal i
Options :

92090644401. 1
92090644402. 2
92090644403. 3
92090644404. 4

Question Number : 2 Question Id : 92090611242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd $1 Waadl & U 57

(1) 14 ST 1947 (2) 153 1949
(3) 15 3R 1947 (4) 14 3T 1949
Options :

92090644405. 1
92090644406. 2
92090644407 3
92090644408. 4

Question Number : 3 Question Id : 92090611243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o faraet arg e g2

(1) STl & guH @eTs @t

@ fafew a1

(3) Ol MR e

(4) AT wadEar SR guf e

Options :

92090644409. 1
92090644410. 2
92090644411. 3
92090644412. 4

Question Number : 4 Question Id : 92090611244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  d-uyr &1 (2) AEINRU &I
(3) Il &1 (4) WG B
Options :

92090644413. 1
92090644414. 2
92090644415. 3
92090644416. 4

Question Number : 5 Question Id : 92090611245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfaem 7 fd mee el faan

(1) aifer e

@ AR e @t srendt
@) Hifts iRl # e
@ e

Options :

92090644417. 1
92090644418. 2
92090644419. 3
92090644420. 4

Question Id : 92090611240 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)



Question Label : Comprehension

TUr feaw gHRT AP ud §1 1929 H S BT U Heaqul SUdeH AR A d 7f &
fapR g3 1, ford waif diearg faas ofiR rad o Adisi &1 e URon 4 H15W A
YR $I QUiEy F 3f1elg 1 WidH $33 31 ufaqn o1 4 f 9d 0 321 &1 gui warsi=an =gl
forer oI, g0 SRy ifa 8fR 94 &1 919 Tl dil| 381 ufas &1 81 YRdard! & 9y 26
SE I AP BEHR o0 8, [ T =1 & quf Wrefian a1 S 3@ | 31 81 A,
241 26 SHERT, 1950 &1, STEl e & €1¢ HRd &7 =01 WiduE IR < § &r] far man|
24 TR ¥ YRd & U &1 0T HS Siftd a1 T 9k Y HfauH & o uR 39 &
A & HTH YE A1l 3fck, 26 S &1 [ 70 fEaw A1 8 USRI Srar g | 26 S ad
SHRI AP Ud g, S HIRd &1 guf Tarefi=rar &1 Ui & | s9a1 Ufderie ofik gty wew 2|

Sub questions

Question Number : 1 Question Id : 92090611241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & Fmfa

(1) HerH (2) TR TG

@) dL3R AEEHT (4) e i
Options :

92090644401. 1
92090644402. 2
92090644403. 3
92090644404. 4

Question Number : 2 Question Id : 92090611242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd $I WdAdl $d U §3?

(1) 14 A& 1947 (2) 1537 1949
(3) 15 IR 1947 (4) 14 3T 1949
Options :

92090644405. 1
92090644406. 2
92090644407. 3
92090644408. 4

Question Number : 3 Question Id : 92090611243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o faraet arg e g2

(1) T gy Fers Bt

@ fafew a1

(3) O SR e

(4) AT wadEar SR guf e

Options :

92090644409. 1
92090644410. 2
92090644411. 3
92090644412. 4

Question Number : 4 Question Id : 92090611244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Hdl-udr$1 (2) AeITRU &1
(3) Il &1 (4) WG B
Options :

92090644413. 1
92090644414. 2
92090644415. 3
92090644416. 4

Question Number : 5 Question Id : 92090611245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfaer # f8 mga =& far man

(1) R H

@ Al sfteRl @t e
@) Hfes sfterl ot e
(@) e

Options :

92090644417. 1
92090644418. 2
92090644419. 3
92090644420. 4

Sub-Section Number : 2
Sub-Section Id : 920906366
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 92090611246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefaa 7 4 ofg 9fdr 1 Ierw Bl

(1) 3ngey () Hed
(3) SoIe 4) oA
Options :

92090644421. 1
92090644422. 2
92090644423. 3
92090644424. 4

Question Number : 6 Question Id : 92090611246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 7 9 9fg 9 &1 3arm gl

(1)  ged (2) w4
(3) S @) g
Options :

92090644421. 1
92090644422. 2
92090644423. 3
92090644424. 4

Question Number : 7 Question Id : 92090611247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & T g 1 @1 e #ifn

gdt-1 Tsg gt -1 gay
(A) U (1 dgdife ¥
(B) TR (1) SferityE Sa
(© T9e () TRIEY TOTH
(D) WY vy e aam
e feu o fawedt § € udt IR &1 9 Sifeu

(M (A, (B)-(), (C)-(IV), (D)-(1)
(&) (A)-(l), (B)-(1), (C)-(IV), (D)-(1)
(3 (A=), (B)-(1V), (C)-(1), (D)-(1H1)
@) (A=), (B)-(), (C)-(V), (D)-(1)

Options :

92090644425. 1
92090644426. 2
92090644427. 3
92090644428. 4

Question Number : 7 Question Id : 92090611247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et | & gt 1 @1 e S

-1 Teg Gt -1 gaE
(A) e ) dgdife Targ
(B) TR (ny  siegdiyE ga
(€ @usR () TSY FIH
(D) TR vy feT
42 feu u fawedi & @ wel I &1 9a4 Bif:

(M (A=), (B)-(1, (C)-(IV), (D)-(1l1)
(&) (A)-(l), (B)-(1), (C)-(IV), (D)-(1)
(3 A, (B)-(1V), (C)-(1), (D)-(11)
@) (A=), (B)-(), (C)-(V), (D)-(1)

Options :

92090644425. 1
92090644426. 2
92090644427. 3
92090644428. 4



Question Number : 8 Question Id : 92090611248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3 3T, 4y W' dArpifad &1 wel 3 @

(1) REwsEag

(2) ORI 3R HIEATS 8 e
(3) YR & 3 U YT B
(4) BB Bd
Options :

92090644429 1

92090644430. 2

92090644431. 3
92090644432. 4

Question Number : 8 Question Id : 92090611248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T P, G Wi wrpifad &1 wel o ¢

(1) PEEFRAR

(2) IR R B & BioATS
(3) Ui & 3 R UTH Bl
4) R HH B BA

Options :

92090644429. 1
92090644430. 2
92090644431. 3
92090644432. 4

Question Number : 9 Question Id : 92090611249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafad 7§ & aue SideR $1 3160 8! &
(1)  &db BAD o G T HAgHdl D™
(2) Yad I HA Hen
(3) o SR @I, 91 3 fiH SR @Iel 8
(4) G G P, YR Yl o
Options :



92090644433. 1
92090644434. 2
92090644435. 3
92090644436. 4

Question Number : 9 Question Id : 92090611249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad # 9 ane sidaR &1 IareU 78 ¢

(1) @D SAD o QI T AGHdl D™
(2) Ydd U GHA FAHl

(3) o SR Erh, 91 3| o9 SR @l 8
(4) G WRI Plal, YRGSl &Y

Options :

92090644433. 1
92090644434. 2
92090644435. 3
92090644436. 4

Question Number : 10 Question Id : 92090611250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"HUUATr P fadd &

(1) et (2) Pl
(3) IRAMI (4) Fard
Options :

92090644437. 1
92090644438. 2
92090644439. 3
92090644440. 4

Question Number : 10 Question Id : 92090611250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"FUUT & G &

(1) STt (2) Bl
(3) HFFI (4) GaRd
Options :

92090644437. 1
92090644438. 2



92090644439. 3
92090644440. 4

Question Number : 11 Question Id : 92090611251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬁmsﬂzg.mc:}tﬂﬁmmaﬁl

(M (2)

e

12

25
2
5

| o E]'—"‘

& — 4)

Options :

92090644441. 1
92090644442. 2
92090644443. 3
92090644444. 4

Question Number : 11 Question Id : 92090611251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QﬁL‘{J:-:ﬂ:%.l-‘hc:}tﬂﬁmmaﬁl

(M (2)

(3) 4)

12
25
12
5

| o E]'—-"

Options :

92090644441. 1
92090644442. 2
92090644443. 3
92090644444. 4

Question Number : 12 Question Id : 92090611252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U O H 32 km/h 31 1f0 T §U 35 e @1 81 40 kmyh @1 711 |/ 9@d g0 OB
fan Wy (e ®) @

(1) 28 (2) 24
(3) 30 4) 33
Options :

92090644445. 1
92090644446. 2



92090644447. 3
92090644448. 4

Question Number : 12 Question Id : 92090611252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Al | 32 kmyh B 10 @ FAd §U 35 T @d 81 40 keyh BT T1RA A Fed gU gEn |
fa wg (foee |) @rme

(1) 28 (2) 24
(3) 30 4) 33
Options :

92090644445. 1
92090644446. 2
92090644447. 3
92090644448. 4

Question Number : 13 Question Id : 92090611253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A 2 1,000 3ifhd Hed B Ueb HHIG WL TUT &1 BHNTT Fel 15% YT x%, DT AT
I3 U 3 714 AW | x T HAFA F1d B

(1) 125 (2y 15
(3) 16 (4 20
Options :

92090644449. 1
92090644450. 2
92090644451. 3
92090644452. 4

Question Number : 13 Question Id : 92090611253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 9 2 1,000 3ifhd Hed Bl Uh HHIW TS TUT &1 HHITT Fel 15% dUT x%, BT ATH
3I3Td U % 714 AU | x DT HH F1d B

(1 125 2} 15
(3) 16 4) 20
Options :

92090644449. 1
92090644450. 2
92090644451. 3
92090644452. 4



Question Number : 14 Question Id : 92090611254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm TS a1 6 cm YR B591 &1 g1 ¥ 991 0 99 81 U 91 38 I PR &d §U
38 U Tiel H S5 eral 8| M 31 B 8

(1) 1ecm (2) 2cm
(3) bcm (4 8cm
Options :

92090644453. 1
92090644454. 2
92090644455. 3
92090644456. 4

Question Number : 14 Question Id : 92090611254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

24 cm 318 TUT 6 cm SR a1 &1 8] ¥ 991 Ud U9 8| U 51 39 UA: STHR d §U
39 U Md 7 sgaar g1 Ma & e g

(1) 1am (2) 2cm
(3) 6cm (4) 8cm
Options :

92090644453. 1
92090644454. 2
92090644455. 3
92090644456. 4

Question Number : 15 Question Id : 92090611255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 7,700 1 AT FIYRU 419 G &1 U H 39 TSR IUR &l 715 [ Uge UFT IR 5 a4 &7 20%
qIftier B &R ¥ S aYT A HFT TR 6 T4 Bl 9% dMMN® D1 g3 J ool avaR gl &1 RN o
IYR & 7 R F BTeT 4T J1d B

(1) ¥ 2,400 (2) ¥ 5,000
(3) Z 5,300 4y T 2,700
Options :

92090644457. 1
92090644458. 2
92090644459. 3
92090644460. 4



Question Number : 15 Question Id : 92090611255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 7,700 B M WIYRY AT TR &1 YT H 38 UHR IUR &1 775 [ Ugel UFT W 5 a8 &1 20%
qIftie P X W =TS qYT GEL HFT W 6 a4 &I 9% aNMe &1 o3 § ool Sa gl &l HEn |
IYR &t 75 M H BeT HFT J1d B3

(1) %2400 (2) ¥ 5,000
(3) ¥ 5,300 4y T 2,700
Options :

92090644457. 1
92090644458. 2
92090644459. 3
92090644460. 4

Question Number : 16 Question Id : 92090611256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt A o gl & fer-uftad @ weitesor @t 81 smomme

20+ 20+ 20-20x20=20

(M + MR- 2 + MR-
(3) + 3R x 4) xR+
Options :

92090644461. 1
92090644462. 2
92090644463. 3
92090644464. 4

Question Number : 16 Question Id : 92090611256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
grte | fb Rl & siae-ufvad @ writevor w&l 81 s

20+ 20+ 20-20x20=20

(1) + AR = (2) + 3R -
(3) + 3R x 4) xR+
Options :

92090644461. 1
92090644462. 2
92090644463. 3



92090644464. 4

Question Number : 17 Question Id : 92090611257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad SF-91 AF yyarEs &8 (7) & WH W) W@ &1 96dl 8, o9l : - & 910 Ud g
TWH W THH a9 YU B HH?

5369 :4258::9875:7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090644465. 1
92090644466. 2
92090644467 3
92090644468. 4

Question Number : 17 Question Id : 92090611257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR $F-91 AF yyaE® ©FE (?2) $ RIF W 3@ O 96dl g, 599 - - & 9¢ ud g
W W JHF g4 YU g1 HH?

5369 :4258::9875:7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090644465. 1
92090644466. 2
92090644467 3
92090644468. 4

Question Number : 18 Question Id : 92090611258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefa 3 71 2 e, & 98 S age1 &d 1 ¢, 98 W U &1 well-31 il & 21 wigdl A Bte
¢ | 98 | g1 ve Mg @ fFy uer @ Heéfia 82

1y uE (2) FE 3l (Sitem
3 W (@) B
Options :

92090644469. 1



92090644470. 2
92090644471. 3
92090644472. 4

Question Number : 18 Question Id : 92090611258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faftle 3 7 ¥ Be, & 98 Sl ag1 Ed W1 ¢, 98 W U &1 gell-31 it & <1 wigdl 9 Bie
¢ | 98 |d el dea Afte ¥ fHy ver § ddéfia &

(1) HE (2) e 3l (eitem
3 W (4) oA
Options :

92090644469. 1
92090644470. 2
92090644471. 3
92090644472. 4

Question Number : 19 Question Id : 92090611259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 HYA R [39R & 3 g8 ag fefo i $1H-8 gdurv &y # srafHfgd 82

FYA: Fefl H Hifde! fawg & sreue 1 gifvre A gRI fafed fiRua sife
fopforae &1 U ufd &1 @ 31 eiwon féa |

@ URUMT: | Ude A e @g Idbdl ¢ |
. QEdd gIRAE |

(1)  afe FHad gduron | sfifed &

2) Tfe Faq gdyRoN || f<iHRd &
3) aflgad 1780 R §

(4)  Ofe gdURoN | SR 11 g1 sf=af-ifgd §

Options :

92090644473. 1
92090644474. 2
92090644475. 3
92090644476. 4

Question Number : 19 Question Id : 92090611259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 HYA R [39R fHoT 3R g8 77 fefo fe $1H-8 gdurv &y 7 srfHigd 82

FYA: Fefl H Hifde! fawg & sreue 1 gifvre A gRI fafed fiRua sife
fopforae &1 v ufd &1 3@ &1 eiwon féa |

A URUNT: | Wl Afdd §d Eile ddhadl g |
. QEdd gIRAE |

(1) af FHaq ydyron | srfied &

(2) it Paq gEyRoN || f<iHRd &

3) gfeadr 178 a8

(4)  afe gdyron | SR 1 SHf srafifed §
Options :
92090644473 1
92090644474, 2

92090644475. 3
92090644476. 4

Question Number : 20 Question Id : 92090611260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U Sy & SuR W Fofafad S1F-91 ey sEo Hem?
FYI: A SIS T

B. Wt i 9% &
frepd: | oo o, FRETE |

Il. S AP FaH ¢ |

(1) 3 FAspy | SR 1 8
(2) ufg Fshy || 3EI0 HIAT 8
3)  afg Ao e | 3ryar 18T 11 SRR Sl ¢
4) ey | SR 11 ST SRR S §
Options :
92090644477. 1
92090644478. 2

92090644479. 3
92090644480. 4



Question Number : 20 Question Id : 92090611260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U HYHl & YR W FEfeRad S1F-91 ey SR S
FYT: A SIS 3

B. Wl HRfdi =1 B
frepd: | oo o, FRETT |

Il. AP AT & |

(1) 3 sy | SR ddl 8
(2) fe sy |1 SE0 Bl ¢
3) A sy | 3ryar 18 1 SRR Sl ¢
4) ey | SR 1 ST SR #Rd §
Options :
92090644477. 1
92090644478. 2

92090644479. 3
92090644480. 4

Question Number : 21 Question Id : 92090611261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R ud 71 94 & 7w B, od Aue® & 9§ o1 S 82

(1)  3RTddl gdd 4ot 2) Rrafes ugitsal
3)  fdem goft @) HdgsI yehsar
Options :

92090644481. 1
92090644482. 2
92090644483. 3
92090644484. 4

Question Number : 21 Question Id : 92090611261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ry ud 77 A & A P, O [AUNS & U H S $Hdl 82
(1)  3RIddl gdd Auft 2) Prafas veifear
(3)  fofen goft (4) Wage ugIsEl



Options :

92090644481. 1
92090644482. 2
92090644483. 3
92090644484. 4

Question Number : 22 Question Id : 92090611262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & Gy gl 1 F1 A Fifo

-1 (@t & =) Tl -l (MRdE sfemaen &

fafay &m)

(A) foud Srar afifd 1) @Me TEAg  (FEfa
2ATA)

(B) ferenm wffa (I HRd & P A H
GUR ST

(C) TY 3R g4 winfa (a1 s e

(D) dgdel gl (IV) SR STHRY T T

13 feu v faseal 7 | wEl IR &1 954 S

(1) (A1), (8)-(l), (C)-(1v), (D)-(1)
(2) (A=) (B)-(IV), (O)-(1), (D)-(1)
(3)  (A)-(V), (B)-(1), (O)-(1), (D)-(1)
4)  (A)-(IV), (B)-(1), (O)-(), (D)-(11)

Options :

92090644485. 1

92090644486. 2

92090644487. 3
92090644488. 4

Question Number : 22 Question Id : 92090611262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 9 g 1 &1 e S

-1 (@Wfd & am) & (URd arferaw ¥
fafae &)
(A) fawe SraE gy ) ®WRe &g (Fnfd
RULEY)
8 feren wfafa () HRd & P ISHE H
GUR S
(C) TH R go+ winfa 1y el e
(D) Fgdal afafd (V) SR TR T F1e
42 feu v faweal 7 9 98l IR &1 IgH DT
(1) (A=), (B)-(I), (C)-(IV), (D)-(1)
(2)  (A)-(1). (B)-(IV), (C)-(1n), (D)-(IN)
(3)  (A)-(V), (B)-(I), (O)-(l1), (D)-(1)
(4) (A)-(1V), (B)-(1), (O)-(I1), (D)-(1)
Options :

92090644485. 1
92090644486. 2
92090644487. 3
92090644488. 4

Question Number : 23 Question Id : 92090611263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&9 ¥ Fafafed few &= & fau 86l g gfawn &1 fearagH faar o e 82

(1) Yod ¥
(2) USRUI (BaTSUTH)
(3) ORI a9 Mg (ST
(4) U (UeA)
Options :

92090644489. 1
92090644490. 2
92090644491. 3
92090644492. 4

Question Number : 23 Question Id : 92090611263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&9 ¥ Fafafed few &= & fau TS6i amr gfawn &1 fearagH faar o e 82

(1) Ydd WA
(2) USRUK (@aEUTH)
(3)  SRIT a4 gl (ETHe)
(4) U @9
Options :

92090644489. 1
92090644490. 2
92090644491. 3
92090644492. 4

Question Number : 24 Question Id : 92090611264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRgFrEfRume:

SYT| ;. U dY P ERHA W S s dasi & s Idifea a¥gsil ud Jarsii &1
3ifcs Heg Hd W IS (GDP) Hgardl ¢ |

®YF 1l Fad W IUIG (NDP), ¥Hd WR¢ Id1G (GDP) Td 8Xel Joll IdIE & Hed 81
il & geu & &) ST g
IR HYA & 3HTald |, A1 130 71 fawadl # 9 98! IR &1 994 Fiferg

(1) &Y RIS R
(2)  HYF IR 1S TTAd
(3) Y| HEl g, Al Y 1 TAd §
(4) ®YF | TTEd ¢, AP HYF 1| TS

Options :

92090644493. 1
92090644494. 2
92090644495. 3
92090644496. 4

Question Number : 24 Question Id : 92090611264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRdsyfumE:

FY| : TP IY & GRA 3 S Urces el & o Idrad awgell d Jarsi &1
3ifer e Hahd Be, IAE (GDP) HEardl ¢ |

®YF1I:  ad W IATE (NDP), Tehdl B¢ JdE (GDP) Ud 9l Ushl IS & Hed g1
@il & gea o &) ST B
JWRIFd HYA & 3fTeileh H, Al 30 70 fawedl # I Hg! I &1 994 Difelg

(1) YIRS L R
) DY SR 1S TAd @
(3)  HYA IS 8, AP FYA I AT &
(4) Y| 7Ted 8, AlfbA YA 1| TEl

Options :

92090644493. 1
92090644494. 2
92090644495. 3
92090644496. 4

Question Number : 25 Question Id : 92090611265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd TIHR &1 oF' Uicd Hafafad ey defia 82

(1) HauH® Eiegrl (2) ST R
(3) <ol AfsfH (4) YR YR fSfoled g&er
Options :

92090644497. 1
92090644498. 2
92090644499. 3
92090644500. 4

Question Number : 25 Question Id : 92090611265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TIHR &1 oF Uidd Hafarad fead defta 82

(1) HEaH® Weerl (2) ST R
(3) <l AfsRE (4) YR YR fSfoed g&er
Options :

92090644497. 1
92090644498. 2



92090644499. 3
92090644500. 4

Part B: Applied Microbiology

Section Id : 920906224
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906367
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090611266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Scientists demonstrated that crossing over involves physical
exchange between chromatids?

(1) T.H. Morgan (2) B. McClintock
(3)  A.H. Sturtevant (4) C. Bridges
Options :

92090644501. 1
92090644502. 2
92090644503. 3
92090644504. 4

Question Number : 26 Question Id : 92090611266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?ﬁ%‘@ﬂﬁﬁfﬁéﬂﬁﬁﬂﬂﬁmﬁhﬁmﬁiﬁﬁmﬂaﬁﬁ'ﬁmwm
g e?

(1) dug ArE (2) o8 faees
(3) UUH A< (4) 4 foes
Options :

92090644501. 1
92090644502. 2



92090644503. 3
92090644504. 4

Question Number : 27 Question Id : 92090611267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Symmetry of head in T; Phage 1s:

(1) Icosahedral (2) Helical
(3) Complex (4) Simple
Options :

92090644505. 1
92090644506. 2
92090644507. 3
92090644508. 4

Question Number : 27 Question Id : 92090611267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, fanieht & R &t wwfnfa gt 8l

(1) et 2) Pefay

3) s 4) T
Options :

92090644505. 1
92090644506. 2
92090644507. 3
92090644508. 4

Question Number : 28 Question Id : 92090611268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a eukaryotic microorganism?

(1) Bacterium (2) Cyanocbacterium
(3) Algae (4) Avrchaea
Options :

92090644509. 1
92090644510. 2
92090644511. 3
92090644512. 4

Question Number : 28 Question Id : 92090611268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fra & @ &1 91 g Rdie U Y& oid 87

(1)  Sfamn (2) TEAEEEE

@) 9 (4) 3Bl
Options :

92090644509. 1
92090644510. 2
92090644511. 3
92090644512. 4

Question Number : 29 Question Id : 92090611269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 phage follows ._..._..._.__.... Cycle.

(1) Litic {2) Lysogenic

B Both lytic and lysogenic (4) Cell cycle
Options :

92090644513. 1
92090644514. 2
92090644515. 3
92090644516. 4

Question Number : 29 Question Id : 92090611269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, faitel fm Teh BT ST Bl ¢ |

(1) @G 2) TS
(3) @Y aYl aaeHD il (4) BB TH
Options :

92090644513. 1
92090644514. 2
92090644515. 3
92090644516. 4

Question Number : 30 Question Id : 92090611270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UV light causes formation of following dimer in DNA:

(1) AA dimer (2) UV dimer
(3) TT dimer (4) GG dimer
Options :

92090644517. 1
92090644518. 2
92090644519. 3
92090644520. 4

Question Number : 30 Question Id : 92090611270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uv yaTe S ¥ Py fgaa &1 oo s g

(m  AAfgog 2) uu fgaa
@ TTigam (4) GG fgaa
Options :

92090644517. 1
92090644518. 2
92090644519. 3
92090644520. 4

Question Number : 31 Question Id : 92090611271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Methanogens belong to which group?

(1) Euhaecteria (2) Archaea
(3) Eubacteria and Archaea (4) Eukarya
Options :

92090644521. 1
92090644522. 2
92090644523. 3
92090644524. 4

Question Number : 31 Question Id : 92090611271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He=re e 8 4 e |eg @ Hdfa g7

(1) gasifen (2) 3!
(3) g aur st (4) gHi
Options :

92090644521. 1
92090644522. 2
92090644523. 3
92090644524. 4

Question Number : 32 Question Id : 92090611272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Generation time of E. eoli growing in nutrient broth at 37 °C is:

(1) 90 minutes (2) 17 minutes
(3) 50 minutes (4) 60 minutes
Options :

92090644525. 1
92090644526. 2
92090644527. 3
92090644528. 4

Question Number : 32 Question Id : 92090611272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0I9eh QR H 37° T I §1 d1d 5. Hicil b1 o H1d 1 g7

(1 90 e @ 17
3) sofEAe 4) 60 e
Options :

92090644525. 1
92090644526. 2
92090644527. 3
92090644528. 4

Question Number : 33 Question Id : 92090611273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is a prophage?
(1)  Free Bacteriophage DNA

(2) Bacteriophage DNA integrated into the bacterial genome
(3)  Bacterial DNA integrated into Bacteriophage DNA
(4) Free bacterial DNA

Options :

92090644529. 1
92090644530. 2
92090644531. 3
92090644532. 4

Question Number : 33 Question Id : 92090611273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wi Teh @ g2

(1) Eddd SianfEadst e

(2)  SIENE S & HIY Uebldd SitEToHTST S1EA.T
3)  wiaEnfadeh S d teled shane g
(4) oA SflaNE ST

Options :

92090644529. 1
92090644530. 2
92090644531.3
92090644532. 4

Question Number : 34 Question Id : 92090611274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Beta-galactocidase gene inducer is:

(1) (lucose (2) Mannose
(3) Betaine (4) Allolactose
Options :

92090644533. 1
92090644534. 2
92090644535. 3
92090644536. 4

Question Number : 34 Question Id : 92090611274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



die-AeaIESd ofiF f[AiRe &1 41 82

(1) Tl (2) BN
@) @ (4) UdriEEr™
Options :

92090644533. 1
92090644534. 2
92090644535. 3
92090644536. 4

Question Number : 35 Question Id : 92090611275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the transversion mutations:

(1) Purine is substituted for a pyrimidine
(2)  Purine is substituted for a purine
(3)  Pyrimidine is substituted for a pyrimidine

(4) An extra purine is inserted

Options :

92090644537. 1
92090644538. 2
92090644539. 3
92090644540. 4

Question Number : 35 Question Id : 92090611275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3o Jaafad= | -

(1) o o1 RfaTs ulidwiftd g
@ o e gl & fo it g
3) faRimtea o affatesa & oo aftenfta g

(4) TS AfAfvaedia STe o g

Options :

92090644537. 1
92090644538. 2
92090644539. 3
92090644540. 4

Question Number : 36 Question Id : 92090611276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following cyanobacteria is not used as biofertilizer?

(1) Nostoc {2y Anabaena
{(3)  Stigonema (1) Seytonema
Options :

92090644541. 1
92090644542. 2
92090644543. 3
92090644544. 4

Question Number : 36 Question Id : 92090611276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFofea & 9 o1 o graaeeiiar dagdid & wu J Iuan 78 gian

(1) AEi® (2) T
(3) (4) THIZCHMA
Options :

92090644541. 1
92090644542. 2
92090644543. 3
92090644544. 4

Question Number : 37 Question Id : 92090611277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the non-symbiotic biofertilizer?

(1)  Anabaena (2) Aszolla
(3) Rhizobium (4) Azotobacter
Options :

92090644545. 1
92090644546. 2
92090644547. 3
92090644548. 4

Question Number : 37 Question Id : 92090611277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& § &9 91 srgeild! Saadid g2

(1) oA (2) Sfgren
(3) USwfegy (4) IElaa



Options :

92090644545. 1
92090644546. 2
92090644547. 3
92090644548. 4

Question Number : 38 Question Id : 92090611278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In microbial interaction, if one organism adwversely effects another organism, it is
known as:

(1) Commensalism (2) Mutualism
{(3) Amensalism (4) Competition
Options :

92090644549. 1
92090644550. 2
92090644551. 3
92090644552. 4

Question Number : 38 Question Id : 92090611278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gerolidt sia:frar &, ofg v offd g ofld W ufdee yue Saa €, d@ 39

Hed el

(1)  HeHifeEn (2) UREfEd
3) sy (4) ufcreasd
Options :

92090644549. 1
92090644550. 2
92090644551. 3
92090644552. 4

Question Number : 39 Question Id : 92090611279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organelle is absent in plant cells compared to animal cells?

(1) Mitochondria (2) Nucleus
(3) Centrosomes (4} Ribosomes
Options :

92090644553. 1
92090644554. 2



92090644555. 3
92090644556. 4

Question Number : 39 Question Id : 92090611279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oig ST B o1 § S 91 SIS urey SR F i g g?

(1) HESHTga (2) SHad
3) e (4) TG
Options :

92090644553. 1
92090644554. 2
92090644555. 3
92090644556. 4

Question Number : 40 Question Id : 92090611280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crossing over takes place during which phase of meiosis?

(1) Pachytene (2) Diplotene
(3) Diakinesis (4) Metaphasel
Options :

92090644557. 1
92090644558. 2
92090644559. 3
92090644560. 4

Question Number : 40 Question Id : 92090611280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ez it fby s o faffma g 22

() OB 2) e
3) CRHRANY (4) HeTH |
Options :

92090644557. 1
92090644558. 2
92090644559. 3
92090644560. 4

Question Number : 41 Question Id : 92090611281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Dominant plant genotype can be determined by:

(1) Back Cross {2) Hybrid Cross
(3)  Test Cross (4) Dihybrid Cross
Options :

92090644561. 1
92090644562. 2
92090644563. 3
92090644564. 4

Question Number : 41 Question Id : 92090611281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl UIgy SfiHIeEY S gr1 i fasan on 9 g1 @iAuE)
(1)  Wdlg dHe (2) gEfIs 4

(3)  odiemd Ha @) feda

Options :

92090644561. 1
92090644562. 2
92090644563. 3
92090644564. 4

Question Number : 42 Question Id : 92090611282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In one of the Mendel's crosses, he observed 315 round yellow, 108 round green, 101
wrinkled yellow and 32 wrinkled green F2 plants. ldentify the tvpe of cross.

(1) Dihybrid Cross (2) Trihybrid Cross
(3) Epistasis (4) Monohybrid Cross
Options :

92090644565. 1
92090644566. 2
92090644567. 3
92090644568. 4

Question Number : 42 Question Id : 92090611282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faftr Gepoll 3 @ v A Hsa A 315 Tiiera 11, 108 el @ €Y, 101 IR du1 32 TR &
el &1 )

(1) fedey e (2) PBrieyden
(3) UORRE (4) UdHdDH b1
Options :

92090644565. 1
92090644566. 2
92090644567 3
92090644568. 4

Question Number : 43 Question Id : 92090611283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cell cycle is regulated by:

(1)  Cycling phosphorylation
(2)  Cweling dephosphorylations
(3)  Cyclins dependent cyclins dephosphorlations

(4)  Protein phosphorylation and degradation

Options :

92090644569. 1
92090644570. 2
92090644571. 3
92090644572. 4

Question Number : 43 Question Id : 92090611283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 9% &) fgs g fafrafid fear s &2

(1 arEfd wlesidso
2) arefda wlesfdso
(3)  wnEfae wiaddfad arsfda wies e
@) W @1 wlepietaor aur Fdiso
Options :
92090644569. 1
92090644570. 2

92090644571. 3
92090644572. 4

Question Number : 44 Question Id : 92090611284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The disaccharide which gives two same monosaccharide on hydrolysis is:

(1) Sucrose (2) Lactose
(3) Maltose (4) Lactulose
Options :

92090644573. 1
92090644574. 2
92090644575. 3
92090644576. 4

Question Number : 44 Question Id : 92090611284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W STEEH BT TR B 1 ST5-9H1gs 31 U A HHI-8F T3S HeH Sl 67

(1) b (2) dFRd
@) W (4) AN
Options :

92090644573. 1
92090644574. 2
92090644575. 3
92090644576. 4

Question Number : 45 Question Id : 92090611285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following animals, environmental factors determine the sex?

(1) Snake (2) Monkey
(3) Turtles (4) Grasshoppers
Options :

92090644577. 1
92090644578. 2
92090644579. 3
92090644580. 4

Question Number : 45 Question Id : 92090611285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fra & @ o ooft & R Prufron qafavofia sre! gr &a1 o @2
m & 2 qR

(3) @gal @) f=

Options :



92090644577. 1
92090644578. 2
92090644579. 3
92090644580. 4

Question Number : 46 Question Id : 92090611286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In recessive mutation:

(1) Gene expressed only when heterozygous
(2)  Gene expressed when homozygous
(3)  Gene is not expressed

(4)  Gene is eliminated by natural selection

Options :

92090644581. 1
92090644582. 2
92090644583. 3
92090644584. 4

Question Number : 46 Question Id : 92090611286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

syt Jafvada & -

(1) o fmgmrsl 9 w8 sifiew g1 &)
(2) o gEgEel g R SifieTad gid 2|

3) i sifirege g gl

(4) i %! Uipfae 997 gRI1 gel faa S g

Options :

92090644581. 1
92090644582. 2
92090644583. 3
92090644584. 4

Question Number : 47 Question Id : 92090611287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Tag DNA polymerase from Thermus aguaticus belongs to which class of DNA
Polymerase?

(1) 1 (2) I
(3) 11 (4) IV

Options :



92090644585. 1
92090644586. 2
92090644587 3
92090644588. 4

Question Number : 47 Question Id : 92090611287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yife ufareg & 9 € v v iy, €heau ofdidys & i of @ ddéfia g2

(m (2) 1
(3 4) v

Options :

92090644585. 1
92090644586. 2
92090644587. 3
92090644588. 4

Question Number : 48 Question Id : 92090611288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In humans, the most abundant protein is:

(1) Lysozyme (2) Keratin
(3) Collagen (4) Immunoglobulin
Options :

92090644589. 1
92090644590. 2
92090644591. 3
92090644592. 4

Question Number : 48 Question Id : 92090611288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ural § waffies g & aran i aren 9 & -

(1) EEETEH 2) *ufeA
3) @rame (4) SEEANEEA
Options :

92090644589. 1
92090644590. 2
92090644591. 3
92090644592. 4



Question Number : 49 Question Id : 92090611289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Succession process in which microorganisms modify the habitat in a wayv that
permit new populations to develop is called:

(1) Allogenic Succession (2) Community Succession
(3 Secondary Succession (4) Autogenic Succession
Options :

92090644593. 1
92090644594. 2
92090644595. 3
92090644596. 4

Question Number : 49 Question Id : 92090611289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@1 gg uftsar o garella U e &1 38 UeR Fuiald #d § ed 3!

AE &1 fae™ g1 umn g, 39 FHEd gl
(1) SIS B (2) WHEAS SFHH
3) fadius s 4) @i swa
Options :

92090644593. 1
92090644594. 2
92090644595. 3
92090644596. 4

Question Number : 50 Question Id : 92090611290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In vertebrates, fat is stored in the form of®

(1)  Arachidonic acid (2) Triacylglycerols
(3)  Waxes (4} Oleic Acid
Options :

92090644597. 1
92090644598. 2
92090644599. 3
92090644600. 4

Question Number : 50 Question Id : 92090611290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SRedIg wiitrdl § aw Fafafad 7 9 by wu # dufed gl 82

(1) sRfseiHe 3 (2) crRuaEsd el
(3 ©H (4) 3iichie 3rd
Options :

92090644597. 1
92090644598. 2
92090644599. 3
92090644600. 4

Question Number : 51 Question Id : 92090611291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following immunoglobulin class is found in maximum concentrations in
blood?

(1) IgA (2 lgG
(3) IgkE (4 IgM
Options :

92090644601. 1
92090644602. 2
92090644603. 3
92090644604. 4

Question Number : 51 Question Id : 92090611291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa & @ fcramdrsgfem @19 w1 avf |ftk wigar & siffean urm ara g2

(1 IgA 2) IgG
(3) IgE 4) I1gM
Options :

92090644601. 1
92090644602. 2
92090644603. 3
92090644604. 4

Question Number : 52 Question Id : 92090611292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the plasma membrane, the most abundant lipids are:

(1) Sterol (2) Cholesterol
()  Phospholipid (4) Glycolipid
Options :

92090644605. 1
92090644606. 2
92090644607 3
92090644608. 4

Question Number : 52 Question Id : 92090611292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e & Haifs uer amn & #1491 fafde 82

m feda (2) Do
@) wresfufte (4) Tengsifeie
Options :

92090644605. 1
92090644606. 2
92090644607 3
92090644608. 4

Question Number : 53 Question Id : 92090611293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the red light region, which pigment has higher absorbance:

(1) Carotene {2) Chlorophyll A
(3)  Chlorophyll B (4} Chlorophyll A & B
Options :

92090644609. 1
92090644610. 2
92090644611. 3
92090644612. 4

Question Number : 53 Question Id : 92090611293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ard U1l &3 H 1 | quies &1 waffie saxiris g2

(1)  HAH (2) Faftha U
(3) SORIfthd &l (4) FARIMP U qun o



Options :

92090644609. 1
92090644610. 2
92090644611. 3
92090644612. 4

Question Number : 54 Question Id : 92090611294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is most abundant enzyme on this planet?

(1) Catalase (2) Amylase
(3) RuBisCo (4) Carbonic anhydrase
Options :

92090644613. 1
92090644614. 2
92090644615. 3
92090644616. 4

Question Number : 54 Question Id : 92090611294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
29 U8 IR DI 9l T5H 9a4 ¥ ugal d g2

(1) ey (2) THIEAN
(3)  SldH®! (Rubisco) (4) DEMD TEEad
Options :

92090644613. 1
92090644614. 2
92090644615. 3
92090644616. 4

Question Number : 55 Question Id : 92090611295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Seed dormancy is due to the accumulation of?

(1) Auxin (2) Gibberellin
(3)  Abscisic acid (4) Cytokinin
Options :

92090644617. 1
92090644618. 2
92090644619. 3
92090644620. 4



Question Number : 55 Question Id : 92090611295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl Uyt fus tailevu & SR gl 87

(m  iffee 2) Mefem
@) vaRERe s @) TR
Options :

92090644617. 1
92090644618. 2
92090644619. 3
92090644620. 4

Question Number : 56 Question Id : 92090611296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacteria protect themselves by fragmenting viral DNA upon entrv by:

(1) Endonuclease (2) Methylase
(3) Ligase (4) Exonucleases
Options :

92090644621. 1
92090644622. 2
92090644623. 3
92090644624. 4

Question Number : 56 Question Id : 92090611296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F&mtg?mmnﬁaﬂhm,maﬁwﬁw%@ﬁmq&@ﬁm CRCRIE
CTGRA

(1) TERfFaTE (2) foursas

@) g (4) UeERgfEaay

Options :

92090644621. 1
92090644622. 2
92090644623. 3
92090644624. 4

Question Number : 57 Question Id : 92090611297 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In Reverse Phase Chromatography

(1)  Mobile phase is polar, stationary phase is non polar
(2)  Both mobile and stationary phases are polar
(3)  Mobile phase iz non polar, stationary phase is polar

(4)  Both mobile and stationary phase are non polar

Options :

92090644625. 1
92090644626. 2
92090644627 3
92090644628. 4

Question Number : 57 Question Id : 92090611297 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JapH yawy guiafast 3§ --

(1) Ticreie vawn ydig 8, R yawn siyda g
(2) &l afoefie @ fer e yda g

(3)  Tiicreie e siedly g, fRR uaw ydia g
(4) el g fer vewd syda )

Options :

92090644625. 1
92090644626. 2
92090644627. 3
92090644628. 4

Question Number : 58 Question Id : 92090611298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At isoelectric point, proteins have:

(1)  Positive Charge (2) Negative Charge
(3) Neutral (4) No net Charge
Options :

92090644629. 1
92090644630. 2
92090644631. 3
92090644632. 4

Question Number : 58 Question Id : 92090611298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Forfayd faeg o Wida @19 91 e T 82

(1)  o-T&E a9l (2) PRI A
3) JerH (@) 3maw ed
Options :

92090644629. 1
92090644630. 2
92090644631. 3
92090644632. 4

Question Number : 59 Question Id : 92090611299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In xylem, which type of transport is present?

(1) Unidirectional (2} Bidirectional
(3) Multidirectional (4) No transport
Options :

92090644633. 1
92090644634. 2
92090644635. 3
92090644636. 4

Question Number : 59 Question Id : 92090611299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sige | {54 TR &1 Hag- ur il 87

(1) TSy @ it
3) aghf (4) @I H Hdg el
Options :

92090644633. 1
92090644634. 2
92090644635. 3
92090644636. 4

Question Number : 60 Question Id : 92090611300 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ecosystem was coined by:

(1) A.G. Tansley (2) Louis Pasteur
(3) E.P. Odum (4) M. Tawett



Options :

92090644637. 1
92090644638. 2
92090644639. 3
92090644640. 4

Question Number : 60 Question Id : 92090611300 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il sgraeh # vl Sild & wipfas e &t 1 Sl 21
(1)  SUgdd w14 (2) Sfied

(3) «HMW (4) A

Options :

92090644637. 1
92090644638. 2
92090644639. 3
92090644640. 4

Question Number : 61 Question Id : 92090611301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In ecology terminology, the natural residence of every organism is known as:

(1) MNiche (2) Habit
(3) Biome (4) Habitat
Options :

92090644641. 1
92090644642. 2
92090644643. 3
92090644644. 4

Question Number : 61 Question Id : 92090611301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRaTge fges oy oM i 87

(1) &b I I0E g1 & gy (2) @dcdH Idd g & gl
3) d@gdNEWFAAIIEER TN (4 R F o@ dIad @9 F fm

Options :

92090644641. 1
92090644642. 2
92090644643. 3
92090644644. 4



Question Number : 62 Question Id : 92090611302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Xerophytes:

(1)  Grow in a dry place (2} Grow in swamp

(3) Grow in a very humid place (4) Grow in seawater
Options :

92090644645. 1
92090644646. 2
92090644647. 3
92090644648. 4

Question Number : 62 Question Id : 92090611302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRHTge e oy o o 87

(1) b W H I g1 & g (2) cuga # ITH H & gl
3) WgdNEWEHIEEERN TN (4 IR F @ dIuE @A F fm

Options :

92090644645. 1
92090644646. 2
92090644647 3
92090644648. 4

Question Number : 63 Question Id : 92090611303 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The final electron acceptor in lactic acid fermentation is:

(1) Oa (2) Lactic acid
(3) NAD+ (4) Pyruvate
Options :

92090644649. 1
92090644650. 2
92090644651. 3
92090644652. 4

Question Number : 63 Question Id : 92090611303 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tfdes s & fPvaa & sifor sdem ardl .

(1) 0z (2) &
(3) NAD* (4) U
Options :

92090644649. 1
92090644650. 2
92090644651. 3
92090644652. 4

Question Number : 64 Question Id : 92090611304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The activity of a species determines communmity structure in spite of their low
abundance or biomass; that species 1s called as:

(1) Keystone species (2) Dominant species
(3) Abundant species (4) Evolutionary species
Options :

92090644653 1
92090644654. 2
92090644655. 3
92090644656. 4

Question Number : 64 Question Id : 92090611304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g v o ardmrE 19 0 o wiiie &t nfafafy srgeiie dvam @) Reffa s g2

(1) Huruer e 2 vy Wiefw
3) e efisfia 4) fawrgard widfiw
Options :

92090644653. 1
92090644654. 2
92090644655. 3
92090644656. 4

Question Number : 65 Question Id : 92090611305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The species that first colonize in new habitats created by disturbance is known as:

(1) Dominant species (2) Late Successional species
(3) Pioneer species (4) Novel species
Options :

92090644657. 1
92090644658. 2
92090644659. 3
92090644660. 4

Question Number : 65 Question Id : 92090611305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 offtefte & o wed € off sy & sru PAffa v snarg § gduun sufaw s 82

(1) et et 2) A mie wieia
@) dfafR o) st @) = wiefle
Options :

92090644657. 1
92090644658. 2
92090644659. 3
92090644660. 4

Question Number : 66 Question Id : 92090611306 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lichens 1s a well-known indicator of:

(1) Water pollution (2) Land pollution
(3) Aar pollution (4) Noise pollution
Options :

92090644661. 1
92090644662. 2
92090644663. 3
92090644664. 4

Question Number : 66 Question Id : 92090611306 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w5 fdgas o1 O ga& 87

(1) o GgHul (2) U UgHul
(3) S ugH (4) eaf ggm
Options :

92090644661. 1
92090644662. 2
92090644663. 3
92090644664. 4

Question Number : 67 Question Id : 92090611307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Polygyny means:

(1) One male mates with several females
(2) One female mates with several males
(3) One female mates with one male

(4) One male mates with one female

Options :

92090644665. 1
92090644666. 2
92090644667 3
92090644668. 4

Question Number : 67 Question Id : 92090611307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agUd I &1 & 314 g2

(1) U GoY s Rl & 91y G & g
(2) UD T S Sl & G W B ¢

(3) UF WU g1 goy & 91 B g

(4) U JEH Ueb g1 &l & 1Y HTH 1 8

Options :

92090644665. 1
92090644666. 2
92090644667 3
92090644668. 4

Question Number : 68 Question Id : 92090611308 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Humans are:

(1) K selection species (2) r-selection species
(3) both k and r-selection species (4) none of these
Options :

92090644669. 1
92090644670. 2
92090644671. 3
92090644672. 4

Question Number : 68 Question Id : 92090611308 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agEm_ #

(1) K Tafa oigfs 2) - gaa wftefe
@) K aul - gafia wfiwfe S 4) T IS TRl
Options :

92090644669. 1
92090644670. 2
92090644671. 3
92090644672. 4

Question Number : 69 Question Id : 92090611309 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A : Trichodesmium, a filamentous, non-heterocystous cyanobacterium

fixes Ns under aerobic conditions in Dead Sea.

Reasons R : Trichodesmium contains a specialized hyaline vegetative cell called

‘diazocyte’ which protects nitrogenase from Oz inactivation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct



Options :

92090644673. 1
92090644674. 2
92090644675. 3
92090644676. 4

Question Number : 69 Question Id : 92090611309 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 @ Fy 3T M0 T U AUFUA (Assertion A) F U ¥ fafad § @ gOv 39S SR
(Reason R}%Fﬂ ba

HNBYT A . THGISHREY, e dguy, e-giiifey wrFlEei agdia fRufa A
Argere & are SR d Feifa s gl

HRUIR - e ieafan § ue fafdy sy arafd i et & B e
FEd ¢, ol & FRfspgu & o Aoy & qféa s gl

JUT HYA F e d, A2 3y o fasedl ¥ 9 998 Iugad I &1 994 Bifee

() AR Gl § iR R A BT BN 8

(2) A SMRREH G ¢, A R A B WS BN Tl ©
(3) AYEIE AfFTRTE TE 2

4 AWHETEIE AfETREEE

Options :

92090644673. 1
92090644674. 2
92090644675. 3
92090644676. 4

Question Number : 70 Question Id : 92090611310 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Assertion A : Polysiphonia posseses triphasic life cycle- Gametangial phase,
Carposporophytic phase and tetrasporangial phase,

Carposporophyte 1s a minute microscopic phase.

Reasons R : Carposporophyte i1s found in female gametophytic plant.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644677. 1
92090644678. 2
92090644679. 3
92090644680. 4

Question Number : 70 Question Id : 92090611310 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & FYA AU MU §: U HUHUA (Assertion A) F Y H ffEd g o gEU IHS RO
(Reason R) & ¥0 H:

AP YT A . OfcitaBIFT &1 Beeri didd 96 g § - gUSYEE saw,
Hfete] Igfig e oy gereiie! s@wni gl

HRUIR : Sfdtan 3gfig o griseiiel urgy & orr o 2|

IR HUF & i H, 19 U U fdwedt # 9 98 Suga I $1 994 By

(1) ARREH GE E IR AP G ATBN B

2 AR REH UE §, AfFT R A B UE TSI G B
(3 AWl E Al R HE TET

4 AGSTEIE AfBTR TR E

Options :

92090644677. 1
92090644678. 2
92090644679. 3
92090644680. 4



Question Number : 71 Question Id : 92090611311 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A

Reasons R :

N-fertilizer 1s added in rice field in the form of ammonium salt and
urea, which 1s rapidly converted into nitrate. Nitrate 1s assimilated
by plants, however, much proportion is leached, percolated into

ground water or return to atmosphere in the form of N2 gas.

Bacteria such as  Pseudomonas  denitrificans, Paracoccus
denitrificans and Thiobacillus denitrificans are involved 1n

denitrification process.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644681. 1
92090644682. 2
92090644683. 3
92090644684. 4

Question Number : 71 Question Id : 92090611311 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRd e

@Y | : N-IJRS B 4H S A T ey daur qur g & wu § Sra ardn g, o diaar 3
gere # ufafda g o 81 Agde uiY g1 wwafde € o 8, grenfe, suen
S o § Farad 81 ol &, 't & R o # R o § @1 agHea |
M. T & &0 H it 3 Sl g1

&Y || . YemFRigTERibed, Waisafeasieirea au udafiay fEasiive= ob
daeitvar farsdteyn & ufpa & mfta 89 €

IUad YA & e F, 2 i3y 0 fasedl ¥ 9 9ed Iuged I &1 999 Hifog

1y FYTIR i aa e
@ &Y R0 ST s B
(3) HYTIEE, ABTFY 1 a8
) U ade afFTsrEnaag

Options :

92090644681. 1
92090644682. 2
92090644683. 3
92090644684. 4

Question Number : 72 Question Id : 92090611312 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A : Azolla, a tiny aquatic fern is used as biofertilizer in rice cultivation.

Reasons R : Azolla form symbiotic association with Ns — fixing eyvanobacterium

Anabaena azollae.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 18 NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :
92090644685. 1

92090644686. 2
92090644687 3



92090644688. 4

Question Number : 72 Question Id : 92090611312 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faGivyafRum e

HYA | il U @Y STty guii § forgest Iuaet ¢ &1 @t § Ue Saddie & w9 o
fvar e 21

HUF I - NzﬁTwmmmm$wmwmm
T 81

JUIER HYF & afcle H, - U U st § 8 9ad Juge Il $1 994 S

(1) ®YIARISHIIIE

2 &Y 3R SE SR '

(3) HYIFAE, AFA FUT 1 T B
@) HYIHEI B, ABTBYA 1 TI B

Options :

92090644685. 1
92090644686. 2
92090644687. 3
92090644688. 4

Question Number : 73 Question Id : 92090611313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Purine and pyrimidine biosynthesis is eritical for all cells.

Reasons R : Purine and pyrimidine molecules synthesize ATP, several cofactors,

and other important cell components.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct
Options :
92090644689. 1
92090644690. 2
92090644691. 3
92090644692. 4

Question Number : 73 Question Id : 92090611313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 € FU AT MU ¢ TP AUSYA (Assertion A) F F  H fafEa § @ To01 I8 SRU
(Reason R}%Fﬁ =

ey A . oF gy RfER & Sadrawe g SRt & e sfed g

HRUIR : oA aur faRvfafes sn) vt di. uftaws seare aur s agaygul Sl
ﬂaaﬂaﬁmmmm&ﬂq?l

IUa YA F STt F, A2 Ay U fasedl ¥ § 998 Jugad e &1 999 Sifee

(1) ASRRIA GEE SRR A B GE TATEN §

@ AR R GE E afda r A B ren E e
(3 AYe g e RS T8

4 AURITeIE AfFTIRTEIR

Options :

92090644689. 1

92090644690. 2



92090644691. 3
92090644692. 4

Question Number : 74 Question Id : 92090611314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : The monomers of DNA are called deoxyribonucleotides.

Reasons R : The nitrogenous base in DNA 18 deoxy.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644693. 1
92090644694. 2
92090644695. 3
92090644696. 4

Question Number : 74 Question Id : 92090611314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & FU AU MU ¢ TP AUSYA (Assertion A) & FU  H fafEd 8 O To0 I¥S SR
{Reason R}*Fﬂ T

HiBYT A . BTAL & Thas! & [Safafiugdrgfaaiees $&d g1
HRUIR : Sluan ¥ Ao e e 8
IUIE HYF & e §, A R v fawedt | § Hed Suged I &1 99 Sl

1 AR GE E MR A B T TATEN B

2 AR R el E AP R A B UE rEN TE §
(3)  AYE!E Al R Hel eI 8

4 AUelITEle AfbIRTEI R

Options :

92090644693. 1
92090644694. 2
92090644695. 3
92090644696. 4

Question Number : 75 Question Id : 92090611315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A : Coupled transcription and translation is possible in bacterial and
archaeal cells.

Reasons R : In bacterial and archaeal cells, nuclear envelope does not separate
the translation machinery from DNA.

In the hight of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644697. 1
92090644698. 2
92090644699. 3
92090644700. 4



Question Number : 75 Question Id : 92090611315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A2 & FU QT T §: TP AUSYA (Assertion o) & F0  H fafEd § @ g6 39S SR
(Reason R) & &4 H:

HHGYA A . WG Tl STl SRSl H Hifoa sraEd iR R §4d 3

HRUIR : Slanel aul el SifkEeld d Afbely onqu SltAT # § RIHER
T 1 gy g B

IURad HY & Tate 8, A 3 o fawedt | 8 ged Suged I &1 99 Bifeg

() ASRREH GE E IR R AP O ATEN B
2 A3MRRIE GE E, A R, A B GE TSN T B
(3 AHel®, Al RuE TETE
(4 AGETEE ABTIRTEIE
Options :
92090644697. 1
92090644698. 2
92090644699. 3
92090644700. 4

Question Number : 76 Question Id : 92090611316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A:  The diauxic growth curve of E. coli 1s obtained when grown with a
mixture of glucose and lactose

Reasons R The enzymes for lactose catabolism are constitutive.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R 1s correct



Options :

92090644701. 1
92090644702. 2
92090644703. 3
92090644704. 4

Question Number : 76 Question Id : 92090611316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A2 @ FU AT M §: TP AUSYA (Assertion o) F T H fafEd § @ To 35S SR
(Reason R) & ©0 H:

ANFYA A ;5 Bicll & sRHfdaDals o B e aul dacid & s & ary fasfe
EzfEicI

BRUIR ; ARy STy P g g Hufed g1a B

IUad Y & e F, 2 i3y o fasel & § 99l Iugad I &1 994 Bifee

(1) A SRR Gdl € iR R A B Tl aren §

2 AR Gl € A r A B G s 6 R
3 AWl g Ul RTE T8

4 AGHTEE, dAFTIR UG T

Options :

92090644701. 1
92090644702. 2
92090644703. 3
92090644704. 4

Question Number : 77 Question Id : 92090611317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A:  The transfer of genes from parents to progeny is called vertical gene
transfer.
Reasons R :  The genes from one independent bacterial cell can be transferred to

another bacterial cell,

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 15 correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644705. 1
92090644706. 2
92090644707. 3
92090644708. 4

Question Number : 77 Question Id : 92090611317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 @ FY 3T MU & U AUFUA (Assertion A) & U T fafad 8 @ gav 39S SR
(Reason R) & ¥4 T:

ey a - Aral-fan @ dafa § ot &1 iR o gsaia sgard gl

HRUIR - m;rﬁmaaﬂamﬁrﬁmwﬁﬁ&mﬁsﬂqﬁw%mm
gl g

TUiad By & e 8, - {3 o fawedt | 8 9ed Iuged 3T &1 999 Sy

(1 A3MRRIHE GE § iR R A B G B §

2 ARRIHE G E, AP R A B TS SN TE ©
3) AWelE AR TG TS

(4 AWl TelE, AfPTRUE R

Options :

92090644705, 1

92090644706. 2

92090644707 3
92090644708. 4



Question Number : 78 Question Id : 92090611318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A:  Nitrate is produced during nitrogen cycle.

Reasons R : The microorganisms use nitrate as a terminal electron acceptor

during anaerobic respiration.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :

92090644709. 1
92090644710. 2
92090644711. 3
92090644712. 4

Question Number : 78 Question Id : 92090611318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 & FY QU MU ¢ T AUSYA (Assertion o) & &0 H fafEa § @ To0 35S RO
(Reason R) & ©4 H:

HUFYT A © S IHV H A5 oA &1 IdE il 8l
FRUIR : AT Yo+ H geaold! A1gee &1 IUArT U sifan gdac udl &1 avg

GEG A

JUT HYA F e 1, A2 Gy v fasedl § @ 998 Juged I &1 994 Bifee
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(4

A 3R R G el € SRR, A BT T ATET B

A 3R R G GE €, A R, A BT e sarEn el 8
A el €, s R WETTET 8

ATE TET 8, AfFT R TR R



Options :

92090644709. 1
92090644710. 2
92090644711. 3
92090644712. 4

Question Number : 79 Question Id : 92090611319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Taxol 18 used in chemotherapy against cancer.

Reasons R :  Taxol preferentially kills tumor cells.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644713. 1
92090644714. 2
92090644715. 3
92090644716. 4

Question Number : 79 Question Id : 92090611319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



412 Q| FYA QU U T 0 UG (Assertion A) F 0 ¥ foifed & @ O 39S SR

(Reason R) HFEY H

HUGY A - HER & favg B o arell Tfaieen & Toula &1 3uan fea s g1
HRUIR: eaata siftrmraa: srfg Sifreis &) 9y ST ar g
JURIa Sy & e 5, - 3y o et | | gad Iuged I & 994 Siforg

(1) AR GE E MR AP G ARBN §

2 AR S € A R A B G aamEn TE R
(3) AWElE ARG TR

(4 AGEITEIE AfFTIRTET R

Options :

92090644713. 1
92090644714. 2
92090644715.3
92090644716. 4

Question Number : 80 Question Id : 92090611320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A :

Reasons R

Sickle-cell anemia (HbS) disease has the most common form of

abnormal hemoglobin.

Erythrocytes of Sickle-cell anemia patients adopt a sickle shape

(crescent-like) at low oxygen concentration.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :
92090644717. 1



92090644718. 2
92090644719. 3
92090644720. 4

Question Number : 80 Question Id : 92090611320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 2 Fu Y MU § 0P AUSYA (Assertion A) F T H fafEa @ O 0 I5F SRO
(Reason R) & ¥4 H:

JffirFu A m%mmebs}mmmmmmaﬁm
TUEI

HROIR - TH-HIADT 3R ard A &) AT T BiorE SE & PR ([TEER
1 d¥E) B gV HL Al & |

IUa HYA & Mate 5, A 3y o fAwed | ¥ wed Suged I &1 994 Sifog

(1) ASMRREH 98l § MR A B OE ATEN B

(2 AR R G E, AP R A B | R TR B
(3 AWE T Afd R TEl TET R

(4 AWETele AfPTIRIE R

Options :

92090644717. 1
92090644718. 2
92090644719. 3
92090644720. 4

Question Number : 81 Question Id : 92090611321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A :

Reasons R

DNA fragments with sticky ends are particularly useful for
recombinant DNA experiments.

The single-stranded sticky ends can easily pair with any other DNA
fragment having complementary sticky ends.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644721. 1
92090644722. 2
92090644723. 3
92090644724. 4

Question Number : 81 Question Id : 92090611321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 & HyF AU M §: TP SHUHUA (Assertion A) F FU  H fafEd § o U 39S R0

(Reason R) & ¥4 H:

didy A . Foofn B 9@ Sl E@s fagw w9 9 gdafon Sleau want &
THIEHRI B B

HRUIR : AL E tadg a faufn R Ao & o g9 me e fafg
@ & & 9y S @ Sien §9 €

IUT YA & e F, 2 3y v fasedl 8 9§ 998 Iugad I &1 999 Bifere
(1) AMRRIH T E SRR A P UG RSN B
@ AR EE E BT R A B wdt ren el

(3) AHAE AfbArES T
(4 AYEIEl 6, AfBTREGI R

Options :

92090644721. 1
92090644722. 2
92090644723. 3
92090644724. 4




Question Number : 82 Question Id : 92090611322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : All eluents for use in HPLC systems must be specially purified.

Reasons R : The traces of impurities in eluents cannot affect the column and

interfere with the detection system.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644725. 1
92090644726. 2
92090644727. 3
92090644728. 4

Question Number : 82 Question Id : 92090611322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & FU AU MU §: TP AUSYT (Assertion o) & FU  H fifEd § @ To0 I9S FRU
(Reason R) & ¥4 H.

iy A - Tadiua ) vorelt § Sudi &A & o gt anaet &) 99w wu § wifaa
e s =nfgul

HRUR: mgmaﬁﬁmﬁumaﬁmmmmﬁm
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2 A3MRRIH Gl € A r A Bl s 6 R
(3) AWEIE ARSI TR

4 AGETEIE AfETREE R

Options :

92090644725. 1
92090644726. 2
92090644727. 3
92090644728. 4

Question Number : 83 Question Id : 92090611323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A : Type II restriction endonucleases recognize and cleave DNA within
particular sequences of four to eight nucleotides referred to as
palindromic sequences.

Reasons R :  The palindromic sequence is similar to words that read the same
backward as forward.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :
92090644729. 1
92090644730. 2

92090644731. 3
92090644732. 4



Question Number : 83 Question Id : 92090611323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 & TuA RY MU § 0P SUSYA (Assertion A) & T H fafEd @ O o0 39F RO
(Reason R}%Fﬂ =
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Options :

92090644729. 1
92090644730. 2
92090644731. 3
92090644732. 4

Question Number : 84 Question Id : 92090611324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A :

Reasons R

Silent mutations change the nucleotide sequence of a codon but do

not change the amino acid encoded by the codon.

A single base substitution can change a codon for one amino acid into

a codon for another.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 18 NOT the correct explanation of A

(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R is correct

Options :

92090644733. 1
92090644734. 2
92090644735.3
92090644736. 4

Question Number : 84 Question Id : 92090611324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



92090644733. 1
92090644734. 2
92090644735. 3
92090644736. 4

Question Number : 85 Question Id : 92090611325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A: Some gram-positive bacteria form endospores.

Reasons R : Endospore does not contain dipicolinic acid.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644737. 1
92090644738. 2
92090644739. 3
92090644740. 4

Question Number : 85 Question Id : 92090611325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090644737. 1
92090644738. 2
92090644739. 3
92090644740. 4

Question Number : 86 Question Id : 92090611326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I  : Microorganisms are defined as those orgamisms and acellular

biological entities too small to be seen clearly by the unaided eye.

Statement IT : All organisms with Prokaryotic cell structures were placed in

Monera.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but statement 11 1s incorrect

(4) Statement I 1s incorrect but statement II 1s correct

Options :

92090644741. 1
92090644742. 2
92090644743. 3
92090644744. 4

Question Number : 86 Question Id : 92090611326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090644741. 1
92090644742. 2
92090644743. 3
92090644744. 4

Question Number : 87 Question Id : 92090611327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I : Algae are photosynthetic.

Statement IT : Slime molds are protists that behave like protozoa in one stage of

their life eyele but like fungi in another.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but statement 11 1s incorrect
(4) Statement I 1s incorrect but statement IT 1s correct
Options :
92090644745. 1

92090644746. 2
92090644747. 3



92090644748. 4

Question Number : 87 Question Id : 92090611327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090644745. 1
92090644746. 2
92090644747. 3
92090644748. 4

Question Number : 88 Question Id : 92090611328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(;iven below are two statements :

Statement I : Prokaryotes possess three cytoskeletal elements: actin filaments,

microtubules, and intermediate filaments.

Statement IT : The S-layer has a pattern something like floor tiles and is composed

of protein or glycoprotein.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but statement II 1s incorrect

(4) Statement I 1s incorrect but statement II 1s correct

Options :

92090644749. 1
92090644750. 2
92090644751. 3
92090644752. 4

Question Number : 88 Question Id : 92090611328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090644749. 1
92090644750. 2



92090644751. 3
92090644752. 4

Question Number : 89 Question Id : 92090611329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Estuaries can be defined as meeting place of river with ocean.

Reasons R : Estuaries support minimum diversity of algae.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R is not correct

(4) A 18 not correct but R 1s correct

Options :

92090644753. 1
92090644754. 2
92090644755. 3
92090644756. 4

Question Number : 89 Question Id : 92090611329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090644753. 1
92090644754. 2
92090644755. 3



92090644756. 4

Question Number : 90 Question Id : 92090611330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Assertion A: Thermal vents are found on the floor of ocean. Temperature of ocean

floor is zero degree centigrade.

Reasons R : Thermal vents support the growth of thermophilic bacteria.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644757. 1
92090644758. 2
92090644759. 3
92090644760. 4

Question Number : 90 Question Id : 92090611330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090644757. 1
92090644758. 2



92090644759. 3
92090644760. 4

Question Number : 91 Question Id : 92090611331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Peptidoglycan 1s a particularly effective target for antimicrobial
agents.
Reasons R : Peptidoglycan 18 an important component of bacteria cell wall

structure and function and 1s absent 1n animal cells.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct

Options :

92090644761. 1
92090644762. 2
92090644763. 3
92090644764. 4

Question Number : 91 Question Id : 92090611331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090644761. 1
92090644762. 2
92090644763. 3
92090644764. 4

Question Number : 92 Question Id : 92090611332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last I1:

Last I Last 11
(A) Cyanobacterial cell wall (I)  Reproductive structure
(B) Akinetes are perennating (II) Muramic acid
structures
(C) Heterocyst (ITI) Survive cold stress
(D) Hormogonia (IV) N;-fixation

Choose the correct answer from the options given below :

() (A)-(ID), B)-(D), (C)-(I), (D)-IV)
(2)  (A)-D), (B)-(ID), (C)-(IV), (D)-(T)
(3)  (A)-(D), (B)-(11), (C)-(I), (D)-(IV)
(4 (A)-D), (B)-AV), (C)-(1D), (D)-(T)

Options :

92090644765. 1
92090644766. 2
92090644767 3
92090644768. 4



Question Number : 92 Question Id : 92090611332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
| &y e S
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g 8
€ eedfte ay  oid uvE | o war el
(D)  BRHEFTAET avy o
Hid fau o fasedi # 9 9el IR &1 94 i
(1) (A)-(y, (B)-(1, (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(), (C)-(IV), (D)-(1)
(3) (AN, (B)-(I), (O)-(1), (D)-(IV)
(4) (A, (B)-(V), (-1, (D)-(1)
Options :

92090644765. 1
92090644766. 2
92090644767 3
92090644768. 4

Question Number : 93 Question Id : 92090611333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT:

Last I Last 11

(A) Firmicutes with low GC (I) Chromatium
content

(B) Firmicutes with high GC (II) Burkholderia
content

(C) Proteobacteria (ITI) Bacillus

(D) Photosynthetic bacteria (IV) Actinobacteria

Choose the correct answer from the options given below :

(1) (A)-(III), (B)-(IV), (C)-(1I), (D)-(I)
2  AW)-(D, (B)-1I), (C)-(I1I), (D)-(IV)
(3)  (A)-ID, B)-(1), (C)-(aD), (D)-(IV)
4 (A)-AV), (B)-AI), (C)-(D), (D)-(I1L)

Options :

92090644769. 1

92090644770. 2

92090644771. 3
92090644772. 4

Question Number : 93 Question Id : 92090611333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl | & Yy g 1 A S
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(1 (A)-(11), (B)-(1), (C)-(111), (D)-(1V)
(2) (A)-(1), (B)-(113, (C)-(), (D)-(1V)
(3 {(A)-(D, (B)-(11), (C)-(V), (D)-(1n)
4 (A)-hny, (B)-(ny, (C)-(1), (D}-(V)

Options :
92090644769. 1
92090644770. 2



92090644771. 3
92090644772. 4

Question Number : 94 Question Id : 92090611334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mateh Last T with Last IT:

Last I List 11
(A) Azotobacter (I) Nitrification
(B) Nitrosomonas (II) Fern
(C) Thiobacillus denitrificans (ITI) Free-living N: fixing
bacteria
(D) Azolla (IV) Denitrification

Choose Lhe correct answer [rom Lhe options given below :

() A)-@, B)-AID, (C)-(1), (D)-(IV)
2 A)-O, B)-AID, (C)-(V), (D)-(1L)
(3)  (A)-ID), (B)-D), (C)-(AV), (D)-(1L)
(4)  (A)-(ID), (B)-(ID), (C)-1V), (D)-(D)

Options :

92090644773. 1
92090644774. 2
92090644775. 3
92090644776. 4

Question Number : 94 Question Id : 92090611334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e | o T = 11 F e S
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(D) 3ftdl vy famrEdieo
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(n (A)-(1), (B)-(1), (C)-(1), (D)-(IV)
(2) (A)-(1), (B)-(n), (C)-(IV), (D)-(I)
{3) (A)-(), (B)-(1), (C)-(IV), (D)-(11)
(4 (A)-(), (B)-(), (Q)-(1v), (D)-(1)



Options :

92090644773. 1
92090644774. 2
92090644775. 3
92090644776. 4

Question Number : 95 Question Id : 92090611335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Liast I1:

Last I List II
(A) Lattoral Zone (I) Open water farther from shore
(B) Limnetic Zone (II) Closest to the shore
(C) Profundal Zone (IT11) Below the limnetic Zone
(D) Benthic Zone (IV) Bottom of the lake

Choose the correct answer from the options given below :

(1) A)-aD), (B)-(), (C)-(I1I), (D)-(IV)
(2)  @Q)-D), (B)-ID), (C)-IIL), (D)-(IV)
(3)  (A)-(1D), (B)-(D), (C)-(IV), (D)-(ID)
(4)  (A)-dID, (B)-AD), (C)-IV), (D)-D

Options :

92090644777. 1
92090644778. 2
92090644779. 3
92090644780. 4

Question Number : 95 Question Id : 92090611335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1 (A)-(Iny, (B)-(1), (O)-(11), (D)-(1V)

(2) (A)-(1), (B)-(n, ()=, (D)-(1V)

(3) (AJ-(1), (B)-(), (C)-(V), (D-(11)

() (A)-(H, (BY-(), (C)-(1V), (D)-(1)

Options :

92090644777. 1
92090644778. 2
92090644779. 3
92090644780. 4

Question Number : 96 Question Id : 92090611336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I with Last IT:

(A)

B)

(©)

D)

Last I

Air Quality Index (AQI) =
51-100

Air Quality Index (AQI) =
101-200

Air Quality India (AQI) =
201-300

Air Quality India (AQI) =
301-400

List 11
(I)  Poor air quality

(IT) Satisfactory air quality
(IIT) Moderate air quality

(IV) Very poor air quality

Choose the correct answer from the options given below :

(1) A)-aD), (B)-D), (C)-(I1I), (D)-(IV)
2  A)-dD, (B)-aID), (C)-(D), (D)-(IV)
(3)  (A)-ID), (B)-(D), (C)-AV), (D)-(1I)
(4 (A)-(IID, (B)-AI), (C)-(IV), (D)-(D)
Options :

92090644781. 1
92090644782. 2



92090644783. 3
92090644784. 4

Question Number : 96 Question Id : 92090611336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wt | & Try Y 11 BT e S

- Tt -
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(B) QU] YAHI® (AQ1) = 101-200 (1) HTHS GRY O
(C) dIUIEl YIS (AQ1) = 201-300 (W) HEIH T UG
(D) AROTET a1 (AQ1) = 201400 (1v) Hfd A arg U

A2 feu o faeredl # 9 9 3w &1 994 S

) (A)-(In), (B)-(1), (C)-(11), (D)}-(IV)
(2) (A)-(In), (B)-(H1), (©)-(1), (D)-(IV)
3 (A=, (B)-(1), {C)-(IV), (D)-{1)
(4) (A=, (B)-(1), (C)-(1V), (D)-()

—

Options :

92090644781. 1
92090644782. 2
92090644783. 3
92090644784. 4

Question Number : 97 Question Id : 92090611337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last II :

Last I Last I1
(A) Commensalism O  (++)
(B) Mutualism (ID) (+,0)
(C) Parasitism (III) (0,0)
(D) Neutralism aIv) (+,-)

Choose the correct answer from the options given below :

(D A)-D, B)-1D), (O)-AV), (D)-(11D)
(2)  A)-ID, (B)-(1), (C)-0V), (D)-(I1I)
(3)  (A)-I), (B)-(D), (C)-(IV), (D)-(1L)
(49 (A)-ID), (B)-1I), (C)-1V), (D)-(I)

Options :



92090644785. 1
92090644786. 2
92090644787. 3
92090644788. 4

Question Number : 97 Question Id : 92090611337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el | & 1y gt 1 & e S

- Tt 1 (3fc:febm)
(A Geuferr M (+ +)
(8 IRIfEdr iy (+ 0
(C) TSt (0, 0)

o) JedFafmufaar  ov (+ 9
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(M (A, (B)-(), (©)-(V), (D)-(I)
(2 (A)-(), (B)-(1), (C)-(1V), (D)-(1n)
(3 (A)-(), B)-(1), (C}-(1V), (D)-(1)
4 (A)-(), (B)-(1), (C)-(1V), (D)-(1)

Options :

92090644785. 1

92090644786. 2

92090644787. 3

92090644788. 4

Question Number : 98 Question Id : 92090611338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT:

Last I Last I1
(A) Phototropism (I) Stimulus 15 a touch
(B) Thigmotropism (II) Stimulus is gravity
(C) Gravitropism (III) Stimulus 1s light
(D) Seismonasty (IV) Stimulus 1s shaking

Choose the correct answer from the options given below :

(L (A)-IID), B)-(D, (C)-dD), (D)-AV)
2)  A)-[, B)-AV), (C)-(D), (D)-(I1L)
(3)  (A)-(I), (B)-(II), (C)-1V), (D)-(I)
(4 (A)-I), (B)-(ID), (C)-(I), (D)-IV)

Options :

92090644789. 1
92090644790. 2
92090644791. 3
92090644792. 4

Question Number : 98 Question Id : 92090611338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl | & Ty g 11 @ e Fife

- -l
(n) UBTRITIEA m e us IEE B
8 wRiad () 7o Ueb JEUD g
(€ TEEMdd (I UHT JEITS B
(D) FUAGHTA (Iv) Y9 IJEIuE 3|

A 2u e A e § O 98 I &1 994 i

(1 (A)-(IIn), (B)-(1), (C)-(), (D)-(1V)
(2 (A)-(1), (B}-(IV), (C)-(11), (D)-(1N)
(3) (A)-(1), (B)-(1), (O)-(IV), (D)-(1)
(4 (A)-(), (B)-(1), (C)-(1), (D)-(IV)

[y

Options :

92090644789. 1
92090644790. 2
92090644791. 3
92090644792. 4



Question Number : 99 Question Id : 92090611339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last II :

Last I Last II
(A) Xerosere (I)  Community formation 1n
water
(B) Hydrosere (II) Community formation 1n
dry and arid area
(C) Lathosere (ITI) Commumty formation on
sand
(D) Psammosere (1V) Commumty formation on
rock

Choose the correct answer from the options given below :

(1) (A)-D, (B)-(ID), (C)-(IV), (D)-(11I)
2)  (A)-, (B)-AV), (C)-(1I), (D)-(11I)
(3)  (A)-ID), (B)-(D), (C)-AV), (D)-(11I)
(4)  (A)-ID), (B)-AV), (C)-(D), (D)-(I1I)

Options :

92090644793. 1

92090644794. 2

92090644795. 3
92090644796. 4

Question Number : 99 Question Id : 92090611339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gt | & Ty gt || &1 e Fifere

il G -1l
(&) HEEHHSD o o H e faveE
(B) WCHUD () HE Tl Pk &9 F |gger faeH
€ U HHD iy ¥d H wge favEd

(D) ST FHS (v) T o) we v
19 & e fasel § 9 O IR &1 994 S

(n (A)-{1); (R)-(), (C)-(V), (P)-(1)
(2) (A)-(1), (B)-(IV), (C)-(M), (D)-(10m)
(3) (A)-(1), (BY-(1), (C)-(1V), (D)-(1h)
4 (A)-l), (B)-(V), (C)-(1), (D)-(m)



Options :

92090644793. 1
92090644794. 2
92090644795. 3
92090644796. 4

Question Number : 100 Question Id : 92090611340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 11 :

Last I List 11
(A) mRNA (I)  Gene regulation
(B) tRNA (II) Peptidyl transferase activity
(C) rRNA (ITII) Adaptor for amino acid
(D) miRNA (IV) Messenger for gene expression

Choose the correct answer from the options given below :

(1) A)-D), (B)-11), (C)-(1I), (D)-(IV)
(2)  (A)-ID, (B)-(D), (O)-(1ID), (D)-(IV)
(3)  (A)-AV), (B)-(1II), (C)-(II), (D)-(D)
(4)  (A)-IID, (B)-AV), (C)-(D), (D)-(ID)

Options :

92090644797. 1

92090644798. 2

92090644799. 3
92090644800. 4

Question Number : 100 Question Id : 92090611340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e | & 91y It 1 F e Fifen

-1 Tl i
(A) mRNA 1y o &1 fafaa
(B) tRNA ay  Oftesd @t vy nfafaf
(C) rRNA (any ST 3 BT SrIFTD
(D) miRNA vy o sfireafa & dewaEs

Fr fBu e el § @ 9l I &1 99 S

(M (A)-{1), (B)-(I1), (C)-(1), (D)-(IV)
(2) (A)-(1), (B)-(1), (C)-(11), (D)-(1V)
(3) (A)-(IV), (B)-(1), (C)-(1), (D)-(1)
(4) (A)-(), (B)-(1V), (C)-(1), (D)-(N)

—h

Options :

92090644797. 1
92090644798. 2
92090644799. 3
92090644800. 4



